
＋

－

＋

－

2 1

2

＋

－

1

＋

－

－

＋

1

－

＋

2

1 2

－

＋

－

＋

＋

－

＋

－

21

2

＋

－

1

＋

－

Door Leaf

4-M5X15 Screw
4-ST4.8X25 Self-drilling Screws

Door Leaf

H
in

ge

Door Frame

（100)

－

＋

1

－

＋

2

12

－

＋

－

＋

4-M5X15 Screw
4-ST4.8X25 Self-drilling Screws

4-M5X15 Screw
4-ST4.8X25 Self-drilling Screws

4-M5X15 Screw
4-ST4.8X25 Self-drilling Screws

4-M5X15 Screw
4-ST4.8X25 Self-drilling Screws

4-M5X15 Screw
4-ST4.8X25 Self-drilling Screws

4-M5X15 Screw
4-ST4.8X25 Self-drilling Screws

4-M5X15 Screw
4-ST4.8X25 Self-drilling Screws

Door Frame Door Frame

Door Frame

Door Frame

H
in

ge

H
in

ge

H
in

ge

H
in

ge
H

in
ge

Door Leaf

Door Leaf Door Leaf

Door Leaf

Door Frame

Door Frame

H
in

ge

H
in

ge

Door Frame

Door Leaf

■Top Jamb Mounting of left Hand (LH)-View from Push Side

■ Standard Mounting of Right Hand (RH)-View from Push Side

■Top Jamb Mounting of Right Hand (RH)-View from Push Side

Door closer

Door closer Door closer

Left hand(LH) door Right hand(RH) door

Opening

Left Hand(LH) door Right Hand(RH) door

Door closer

Opening

LH

LH

RH

RH

DO NOT back valves out of closer
 or a leak will result.

Door Leaf

CAUTION: Close the regualting valves
fully.(Turn to the end clockwise)

CAUTION: Close the regualting valves
fully.(Turn to the end clockwise)

CAUTION: Close the regualting valves
fully.(Turn to the end clockwise)

DO NOT back valves out of closer
 or a leak will result.

CAUTION: Close the regualting valves
fully.(Turn to the end clockwise)

DO NOT back valves out of closer
 or a leak will result.

DO NOT back valves out of closer
 or a leak will result.

Inch/(mm)

707.05.690 CONCEALED DOOR CLOSER INSTALLATION                             SIZE3

5
/
8

■ Standard Mounting of left Hand (LH)-View from Push Side Inch/(mm)

Inch/(mm)Inch/(mm)

（
）

（
）

（
）

（
2

5
.5
）

5
/
8

5
/
8

5
/
8



Loose

Slow
Fast

 Opening Angle and Closing Speed Adjustment

Fixing Bolt M8x1

Combining the Main Arm and the Slider in the track

Screw
Main Arm

Combining the Main Arm and Body

Slide Track

Self-drilling Screw ST4.8X25

Screw M5x15L
Hold Open moudle

The Screw hole for the M5x0.8
scerws should be chamfer

Body
Fixing Plate

Screw M5x12L
Screw M5x15L
Self-drilling ST4.8x25Fixing and Installation

of the Body

Installation Steps

Non-Handed

Description of Spare Parts

Body

Fixing Plate

Main Arm

Slide Track
Slider

DescriptionNO Q'TY

Hold Open Nut
Fixing Bolt M8X1

Sex Spanner 5mm

Screw M6x12L

Screw M5x15L
Self-drilling Screw ST4.8X25

Screw M5x12L

Screw M5x15L

Self-drilling Screw ST4.8X25

1

2

3

4

5

6

7

8

9

10

11

12

13

14

Speed Adjustment

Latching Speed Valve

Fast

Slow

Latching Speed Range

Closing Speed Range

Sliding

Hold Open Angle Adjustment

1

2

12

13

14

7

5

8

11

10
6

4

5

4

3

2

1

9

3

Tighten

Fixing and Installation of the Slide Track

1

1
1

1
1

1

1

1

1

4

4

4

4

4

CAUTION: Please close fully the
regulating valves(Turning to the end
clockwise) opposite to the side of
the fixing plate after mounting of the
fixing plate.

2

1

Closing Speed Valve

NOTED: Please dont install the Hold open
nut if closer with UL label.


	707.05.690.pdf
	2.pdf

